Unit 3 - Day 1: Function Netation és

¥ Target: Recognize function notation, inputs, and outputs

Evaluate: y=2x+5 whenx=3 Evaluate: f(x) =2x+5 whenx=3
g:zla)m £(2)=2(0115
w £(2)= Gt5
=V 3 £(3)=1
Evaluate: y=x2-9 when X =-4 Evaluate: h(x) =x%2-9 whenx=-4

5__. (-4)>-9 h(-$)= (-9
5: b-9=17 h(-4) =9

We usually call the x values: NP WS or d Omal‘n

We usually call the y or f(x) values: }MQZQ 0 or r

Sometimes it helps to picture a function as follows: L (- Z\ = -7 - I
Input (x) - -
" x | f(x) 5
> |-3
12 | g(-n= -1 -
01 -1 =2
110
2
\ | f{or=0 -I

Output y or f(x)

£fin= v -1 £9

i\

Given the following inputs, find the output: =0 - l
Ex. 1 Xx=-3 Ex.2 _ 5 Ex. 3 X =4
/
f(x) =x>+4 o k(x)z\/;_a, o h(x)=2"+1—|_

AN

Fl-9=(-3) s Ki#9)= Z5—4 h(N= 27 +]
=ary =5-1 = ot

—



Given the following outputs, find the input(s):* sb\% ’PDY x *

Ex. 4 Ex.5 *Ex. 6

\/ \/ \/

i) =2x+3 gx)=%-4 LI k=x+2 H

/\ AN /\

jM=11 g(?) =5 S‘\’lkd-ﬂgﬁ k(?) = 27
w

/@f/@ab‘ on Em/r(//w #7-6 Never
possible for
a function

Can an input have more than one output?

Can an output have more than one input? #é

NO
For a function we say: For every x there is ﬂﬂﬁ% _Q_“L y.

f(2)=3,f(2)=4

Which of the following mappings represent functions?

Input Output

0 2

5 - 3

o=—_ | 4
5@6 NO

Which of the following tables represent functions?

Input (x) Output (y)
0
5 —
10

“u ph WDN

Input Output Input Output Input Output
1 5 1 4 1 4
2 6 2 8 2 8
2 7 3 12 3 12
3 8 4 16 4 12




